
5 is a natural number; or the collection of natural numbers

contains 5.

Adding 0 to the collection of natural numbers makes the

collection of whole numbers.

Merging the algebraic numbers and the transcendental

numbers makes the real numbers.

Transcendental numbers are those real numbers which are

not algebraic numbers.

Nothing is both transcendental and algebraic, or the col-

lection of things both transcendental and algebraic is empty.

Negative integers are both negative and integers.

All integers are rational numbers.

Since all rational numbers are algebraic numbers and all

algebraic numbers are real numbers, it follows that all ra-

tional numbers are real numbers.


